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1. ---- that the basic principle of collective 

ownership of rural land will remain unchanged. 

A) In the past, many people in China feared 

B) The Chinese government had already decided 

C) Some politicians in China took part in a debate 

D) The Chinese Prime Minister has stated 

E) Chinese peasants held a protest meeting last 

Sunday 

 

 

 

2. ----, but it no longer sponsors terrorism. 

A) North Korea had long wanted to reach an 

agreement with the US 

B) North Korea had, until recently, no intention of 

giving up nuclear weapons 

C) The North Koreans and the Japanese have had 

talks on a variety of issues 

D) Two decades ago, two North Korean agents blew 

up a South Korean airliner 

E) North Korea’s regime may be brutal in all sorts of 

ways 

 

 

 

3. Because Brazil’s exports include a wide variety of 

valuable raw materials, ----. 

A) the unpredictable exchange rates had damaged 

the country’s economy a lot 

B) the government introduced a number of austerity 

measures to reduce inflation 

C) the country has had huge earnings in foreign 

currency over the past few years 

D) the country’s economy cannot satisfy domestic 

demand without higher inflation 

E) most economists agree that a weaker currency will 

mean higher inflation 

4. ---- where bones that span six million years 

of human evolution have been dug up over the last 

25 years. 

A) New archaeological evidence helps us to 

understand the evolution of primitive humans 

B) Various fossils have recently been found in an 

Ethiopian valley 

C) The history of human evolution can best be traced 

through the study of fossils 

D) The new discoveries in Ethiopia significantly 

expand our knowledge of primitive humans 

E) In Ethiopia, a wide range of fossils, including teeth, 

skull, jaw and hand bones, have been discovered 

 

 

5. When François Mitterrand nationalized France’s 

banks in 1981, ----. 

A) he opposed the view that economic liberty had 

been under attack 

B) he had already decided to minimize these risks in a 

short term 

C) he had tried to avoid populist gestures 

D) his ultimate aim has been to regulate France’s 

financial system 

E) he did so because he thought the state would 

run them better 

 

 

6. In the 1970s and 1980s, Colombia became one of 

the international centres for illegal drug production 

and trafficking ----. 

A) because the drug cartels virtually controlled the 

country 

B) even though 2 million Colombians have left the 

country in the past several years 

C) that the government unsuccessfully attempted to 

stem the guerrilla violence 

D) just as the leading drug dealers were offered 

lenient punishment in exchange for their surrender 

E) since the country has turned into a battleground 

with bombs, killings and kidnappings 

  



7. New Zealand consists of two main islands and a 

number of smaller, outlying islands, which are so 

scattered ----. 

A)  while the country has been in the forefront in 

instituting social welfare legislation 

B)  as other inhabited islands include the Chatham 

Islands and Great Barrier Island 

C)  even if the North Island and the South Island are 

separated by the Cook Strait 

D)  since the Maoris, who consisted of several tribes, 

were the first inhabitants of the country 

E)  that they range from the tropical to the Antarctic 

 

 

8. Suriname, now a Latin American country, was 

originally explored by Spain in 1593, ----. 

A)  because the English transferred sovereignty to the 

Dutch in 1667 

B)  but by 1602 the Dutch began to settle the land, 

followed by the English 

C)  since colonization was confined to a narrow coastal 

strip 

D)  although African slaves made up the workforce for 

coffee and sugarcane plantations 

E)  while after 1870 plantation workers were mostly 

imported from British India 

 

 

9. Some types of breast cancer grow very slowly and 

spread to other parts of the body ----. 

A)  as an infected breast usually appears red and 

swollen 

B)  so long as they can be detected 

C)  only after they become very large 

D)  so that the diseased breast may be removed 

E)  because recently two separate genes for breast 

cancer have been identified 

 

10. The prevalence of schizophrenia worldwide 

appears to be slightly less than 1 per cent ----. 

A)  if schizophrenia is a relatively serious mental 

disorder 

B)  since it is regarded as a major public health 

problem throughout the world 

C) because schizophrenia and other delusional 

disorders share certain features 

D) although areas of higher or lower prevalence have 

been identified 

E)  unless people with schizophrenia occupy one 

fourth of all hospital beds 
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11. If the cost of health benefits for working people in 

a country rises, ----. 

A)  soaring health costs are one of the big factors that 

have crippled the economy 

B)  usually employers cut wages or pass on the costs 

as higher prices to customers 

C)  firms should, in fact, be indifferent to whether they 

pay employees cash wages or benefits 

D)  those costs have nearly doubled this decade alone 

in many industrialized countries 

E) the current economic difficulties have forced 

politicians to focus on health reform 

 

 

12. ---- that bats use ultrasonic beams to follow 

insects through the dark. 

A) A group of students are experimenting 

B) Scientists had wondered 

C) A great deal of evidence needs to be gathered 

D) It’s long been known  

E) Over the years, no scientist has questioned 

incidence/ frequency

initially,
in the beginning,

devaminda 
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13. -----, while just 1.7 tonnes of corn yields the same 

result. 

A) A team of scientists has claimed that the traditional 

methods of production in plastics are extremely 

costly and have an adverse impact on the 

environment 

B) It has been announced that a company in China, 

sponsored by the government, is planning to 

harvest plastics from crops of corn 

C) Eight tonnes of crude oil are currently needed to 

create one tonne of polyol, which is an alcoholic 

substance used in a number of plastics 

D) Scientists are now using a new type of microscope 

that lets them view internal structures of materials 

in greater detail than ever before 

E) The device the company’s scientists use utilizes X-

ray analysis technology and reveals chemical 

compositions of objects being studied 

 

14. ----, but it failed to halt the rise of Adolf Hitler and 

the Nazi war machine. 

A) During World War II, France was split into a 

German-occupied north and an unoccupied south 

B) Following World War II, France turned its attention 

to its African colonies, where there was a growing 

demand from the natives for independence 

C) After a series of extremely savage battles, Allied 

armies liberated France in August 1944 from the 

German occupation 

D) In May 1940, the Germans marched into an 

undefended Paris, and in the following month the 

French government signed an armistice 

E) Beginning in 1919, French foreign policy aimed at 

keeping Germany weak through a system of 

alliances 

 

15. Although there were plenty of sceptics when 

Mauritius tried a decade ago to become an 

offshore financial centre, ----. 

A) it has partly attained its goal, since it now hosts 19 

national and international banks 

B) it has built a textile industry that has made the 

country relatively prosperous 

C) last month it brought in a new labour law, making it 

easier to hire and fire 

D) it imports most of its food and energy as rising 

world prices are pushing up inflation 

E) much of the economy remains concentrated in the 

hands of a few local magnates 

16. In his opinion, poetry is essentially an effort to 

elude facts, ----. 

A) since he had been regarded as a promising young 

poet 

B) whereas prose is essentially a means of unearthing 

and exhibiting them 

C) but his poems have been published in respectable 

literary journals 

D) because many critics share the view that poets 

should be concerned with politics 

E) if many prose writers enjoy writing about social and 

cultural issues 

 

 

17. Missions to the Moon’s previously unvisited 

mountains and polar regions will aid the search for 

water, ----. 

A) since the first crewed mission will be planned for 

the far side of the Moon 

B) whereby test landings are scheduled to begin in 

2010 

C) which is vital to any future lunar base to be set up 

by NASA 

D) even if the mission aims to land astronauts on the 

surface of the Moon by 2015 

E) even though dense clouds of interstellar dust 

conceal the heart of our galaxy 

 

 

18. New radiocarbon dating of fossils suggests ----. 

A) that mass extinctions of mammoths and wild 

horses 10,000 years ago were caused by natural: 

climate shifts 

B) whether humans were to blame for extensive 

destruction in the natural world and also for the 

pollution of the oceans 

C) how scientists began to understand clearly what 

dinosaurs ate and why they disappeared from the 

face of the Earth 

D) if an olive branch buried for thousands of years in 

volcanic ash could have revealed the fate of the 

great Minoan civilization on the Greek island of 

Thera 

E) when it was scientifically established that 

dinosaurs belonged to a large group of reptiles 

called archosauria 



19. ----, it would be regarded as a disaster at home 

and abroad. 

A) Since power generation in China fell by 7% last 

year 

B) As India had enjoyed a big economic advantage 

over China 

C) Because unrest and even insurgency are 

widespread in many countries 

D) If China’s growth rate were to fall to 5% or  

less 

E) While India is considered to be a major 

economic power  

 

 

20. In the early years of the global warming debate, 

there was great controversy over ----. 

A) while China has been blamed for the climate crisis 

today 

B) although scientists have concluded that this 

warming is dangerous 

C) since the details of future forecasts about warming 

remain unclear 

D) that warming would be a significant problem in the 

decades ahead 

E) whether the planet was indeed warming 
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21. ----, but they provide a wonderful way to see the 

countryside and the wildlife. 

A) Hitchhiking is still fairly common in some European 

countries 

B) There are several ferry services between France 

and Britain 

C) One of the finest ways to get a taste of life in 

Finland is to go boating on a lake 

D) Cycling is certainly a most enjoyable way of seeing 

parts of central France 

E) Trains in Argentina are much less frequent and 

efficient than buses 

22. ----, even though the number of paintings he 

produced wasn’t large. 

A) It is true that Leonardo da Vinci lived in Milan until 

1499 when the city was captured by the French 

forces 

B) Leonardo da Vinci was born in or near the small 

town of Vinci, a day’s journey from Florence 

C) Leonardo da Vinci’s writings on painting were first 

published in 1651 in Paris from his scattered notes 

as Treatise on Painting 

D) Leonardo da Vinci is one of the very few artists 

whose reputation has from his own time onwards 

always remained at the highest level 

E) When Leonardo da Vinci came to Florence as a 

young man, he became the Florentine painter 

Verrocchio’s apprentice 

 

 

 

 

23. ---- that either depend on those hormones or are 

inhibited by them. 

A) Hormone therapies raise or lower levels of certain 

hormones to limit the growth of cancers 

B) In the opinion of most physicians, surgery, radiation 

therapy, and chemotherapy play definite roles in 

treating tumours 

C) Unfortunately, some tumours, such as those in the 

stomach, pancreas, or kidney, respond only 

partially to radiation therapy 

D) Progress in cancer therapy has come with better 

combinations of drugs, altered dosages, and better 

coordination with radiation therapy 

E) Almost everyone who receives chemotherapy or 

radiation therapy experiences certain side effects, 

such as nausea or vomiting, 



24. ----, just as his sister represented female 

excellence. 

A) Homer’s epic The Iliad, in which the Olympian gods 

are portrayed, refers to Apollo as the god who 

sends disease with his arrows 

B) Apollo was one of the twelve gods of Olympus and, 

during the Trojan War, he supported the Trojans 

against the Greeks 

C) In mythology, Apollo, who was the twin brother of 

Artemis, known also as Diana, was considered to 

represent masculine physical perfection 

D) Among the ancient Greeks, Apollo was worshipped 

not only as the god of poetic and musical 

inspiration but also as the god of the sun 

E) In antiquity, Apollo’s temple at Delphi was often 

visited by large crowds because it was a major 

centre for prophesies 

 

 

25. ---- because the Byzantine Empire was the 

uninterrupted successor of the Roman state. 

A) A new period in the history of Western civilizations 

began in the seventh century 

B) It is impossible to date the beginning of Byzantine 

history with any precision 

C) The history of Western civilizations is largely a 

story of rivalries and interactions 

D) In medieval Italy, commerce and cities continued to 

flourish due to trade with the East 

E) By 650 the Arabs had taken most of the Byzantine 

territories, including Jerusalem 

 

 

26. Our knowledge of the Etruscans is severely limited 

----. 

A) that, by the sixth century B.C., the Etruscans had 

established a confederation of independent city-

states 

B) while Etruscan women enjoyed a comparatively 

elevated place in society 

C) whether the Etruscans shared with the Greeks a 

religion based on the worship of gods in human 

form 

D) just as it appears that Etruscan settlements in Italy 

go back to the late Bronze Age 

E) since their language, although written in a Greek 

alphabet, has not yet been fully deciphered 

27. In the late 1920s, many politicians were cautiously 

optimistic ----. 

A) if the Nazis tried to eliminate the influences of 

American popular culture, which they regarded as 

an example of cultural degeneracy 

B) in case the Nazis, like other authoritarian 

governments, had used mass media as an efficient 

means of indoctrination and control 

C) that the economic troubles and political turmoil, 

which had been brought about by World War I, 

could easily be overcome 

D) just as one powerful influence on the artists and 

intellectuals of the time was neither social nor 

political, but scientific 

E) so that artists might continue to focus on subjective 

experiences, multiplicities of meaning, and 

personal expression 

 

 

 

28. ----, the Vietnam War, which relied on a 

disproportionate number of black soldiers, 

magnified racial inequality in the United States. 

A) When President Johnson began the strategic 

bombing of North Vietnam 

B) As Martin Luther King, Jr., pointed out in the 1960s 

C) Although the South Vietnamese government 

resisted efforts at reform 

D) Even if the peace talks in Paris between the United 

States and North Vietnam failed 

E) Since the 1954 Geneva Accords divided Vietnam 

into North and South 

 

 

 

29. Following World War II, Japan emerged as a major 

industrial power because large state subsidies 

supported the success of Japanese firms, ----. 

A) if the Japanese government launched a series of 

austere economic measures to reduce 

unemployment 

B) unless the firms themselves concentrated on the 

efficiency and technical reliability of their products 

C) even though every Japanese government regarded 

the creation of prosperity as a fundamental patriotic 

duty 

D) while a well-funded programme of technical 

education aided research and the development of 

new goods 

E) whereas Japan, as a fully industrialized country, 

not only led the way but also became the most 

influential model of success 



30. Galileo observed sunspots, ----. 

A) which he sketched and documented as real 

irregularities on the surface of the sun 

B) since he claimed that the craters of the moon were 

the features of its landscape 

C) even if, with the support of the Medici family, he 

was able to pursue his work on astronomy 

D) so long as his ideas on astronomy brought him into 

conflict with powerful opponents 

E) whether he was already a famous mathematician 

at the University of Padua 
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31.  During the early decades of the Industrial 

Revolution, ----, while in France it was checked not 

only by government interference but also by the 

bounty of its sources. 

A)  it took nearly a fortnight to travel from London to 

Edinburgh 

B)  textiles made up over 50 per cent of Britain’s 

exports 

C)  the steam engine, invented by James Watt, 

supplied continuous and reliable power 

D)  technology in Britain was developed by new 

industrial requirements 

E)  Britain had a transport network without parallel in 

Europe 

 

 

32.  According to Marx’s theory of history, when the 

French Revolution overthrew the old order, 

ushering in bourgeois political power and 

industrial capitalism, ----- 

A)  the stage of feudal or aristocratic property relations 

ended 

B)  world history had passed through three major 

stages, each characterized by conflict between 

social groups 

C)  the revolutionary character of capitalism would 

undermine the bourgeois economic order 

D)  recurring economic crises would bring capitalism to 

collapse 

E)  each individual best understood his or her own 

interests and was therefore left free 

33.  ---- that space and motion are relative to each other 

instead of being absolute. 

A)  As early as 1905 Einstein became convinced of the 

equivalence of mass and energy 

B)  Einstein’s most famous theory, the principle of 

relativity, states 

C)  By 1915 Einstein had proposed entirely new ways 

of thinking about matter, time, and gravity 

D)  Einstein’s theories paved the way for revolutionary 

developments in physics 

E)  Einstein devoted much of his life to promoting 

peace and social justice 

 

 

34.  ---- whether it is a work of high quality or just a 

worthless piece of writing. 

A)  Today in Europe and America, there is a 

tremendous outpouring of printed books from the 

publishers 

B)  The appreciation of literature is surely concerned 

with judgement of complete works 

C)  The majority of works of literature are lengthy 

novels, plays, and poems 

D)  Experienced literary critics can tell with some 

certainty from just the first paragraph of a novel 

E)  The English language has resources which enable 

us to express thoughts in different ways 

 

 

35.  ----, but the two forms of writing are so unlike each 

other that they probably developed independently. 

A)  Some historical linguists have postulated that early 

Egyptian might represent the survival of a root 

language 

B)  Among the many facets of Egyptian culture that 

have fascinated archaeologists is the Egyptian 

system of pictographic writing 

C)  The photographic nature of Egyptian hieroglyphics 

may indicate an early influence from the Sumerian 

cuneiform script 

D)  Contrary to the Sumerian cuneiform script, 

Egyptian hieroglyphics never evolved very far 

towards a system of phonograms 

E) As in Sumer, writing technology quickly became an 

important tool for Egyptian government and 

administration 

  



36.  Medieval scholars knew as Roman authors only 

Virgil, Ovid, and Cicero, ----. 

A)  but during the Renaissance the works of others 

such as Livy, Tacitus, and Lucretius were 

rediscovered and made familiar 

B) whether Greek scientific and philosophical writings 

became available to Westerners in Latin 

translations through Islam 

C)  because Renaissance thinkers not only knew many 

more classical texts but they also used them in new 

ways 

D)  whereby Renaissance writers were more aware of 

the conceptual and chronological gap that 

separated their world from that of their classical 

sources 

E) since Renaissance humanism was a programme of 

studies that aimed to replace medieval scholastic 

emphasis on logic and metaphysics 

 

37.  Mozart, who was one of the leading 

representatives of the “Classical” style in music, 

was only thirty-five ----. 

A)  because the Church continued to provide support 

for music 

B)  as opera flourished in the eighteenth century 

C)  when he died of rheumatic fever 

D)  even though Bach was certainly the greatest 

composer of Baroque music 

E)  just as Rousseau composed music and wrote an 

opera 

 

38.  ----, infectious disease continued to kill half of all 

Europeans before they reached the age of twenty.  

A)  Although famines became less common and less 

widespread in Europe in the eighteenth century 

B)  Unless the total number of urban dwellers across 

Europe as a whole did not change markedly 

between 1600 and 1800 

C)  Because improved sanitation, together with a better 

diet, may have played some role in the rise of 

Europe’s population in the 1820s 

D)  Since Naples went from a population of 300.000 in 

1600 to nearly half a million by the late eighteenth 

century 

E)  Just as many of the million or so men and women 

employed in the textile trade in northern France in 

the seventeenth century lived in cities 

39.  In his famous work Novum Organum, Francis 

Bacon emphasized that natural science could not 

advance ----. 

A)  so that this could mean gaining knowledge of 

nature through the senses 

B)  whether the knowledge of ancient authorities was 

the best guide to truth 

C)  If knowledge was best gained through cooperation 

among researchers 

D)  unless it cast off the inherited errors of the past 

E)  whereby he left a deep mark on the development of 

modern science 

 

 

40.  In the mid-1930s, ----, unemployment dropped from 

over 6 million to under two hundred thousand. 

A)  if Hitler was to maintain power and enjoy a sizeable 

amount of popular support 

B)  so long as Hitler promised to lead Germany back to 

national greatness 

C)  as the Nazis built the entire German military 

infrastructure 

D)  unless Hitler’s plans for national recovery called for 

full-scale rearmament 

E)  since Hitler, like Mussolini, moved to abolish class 

conflict in Germany 
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41. He says that if any such evidence existed, —. 

A)  they will conduct the experiment under controlled 

conditions 

B)  he is most probably wrong in interpreting the 

evidence 

C)  it would have been published in a scientific journal 

D) there can be some counter claims regarding the 

sample 

E)  you might as well follow the advice from the 

researchers 



42.  Just as nobody could have predicted the impact of 

the steam engine in 1750, —. 

A)  3D printers were used for photocopying for many 

years. 

B)  3D technology is likely to disrupt every field it 

touches 

C)  it is unclear whether 3D printing requires additional 

material and effort 

D)  technological change is profound enough to reset 

the economics of 3D printing 

E)  it is impossible to foresee the long-term influence of 

3D printing 

 

 

43.  Although obsession with the latest clothes and 

gadgets is common among teenagers, —. 

A)  materialism actually peaks during pre-teen years 

when it is directly linked to self-esteem 

B)  praise from peers about their clothing diminishes 

their self-esteem 

C)  higher levels of materialism can also lead to 

obsession 

D)  boosting teenagers' self esteem can help improve 

their performance at school 

E)  the "must have" mentality is significant in shaping 

one's personality 

 

 

44.  —since he speaks English, French and Italian 

fluently. 

A)  They asked him to teach Turkish on many 

occasions 

B)  He is having to take lessons in order to learn 

English 

C)  He seems qualified to be in charge of the 

department of multilingualism 

D)  There is talk of splitting the large internal-market 

portfolio 

E)  It is hard to see him dealing with the French 

delegates 

45. — before calm can resume and a stable new order 

can emerge. 

A) The country has a long way to go 

B) Mobile phones continue to spread news 

C) Liberal voters wish to win an electoral victory 

D) The latest unrest may die down 

E) No one can be sure of a new order 

 

 

46.  — they would probably do well, perhaps even win. 

A) Had they been informed in advance 

B) Provided they are ready 

C) Unless a general election is called 

D) If there were fair elections 

E) Should there be a cancellation of elections 

 

 

47.  Some politicians were asked to describe the 

emotions their own demise would arouse and what 

would happen after they died, —. 

A)  therefore all groups gave highly favourable 

opinions on the measures that were taken by the 

government 

B)  while others were given the rather less difficult task 

of answering questions about their TV viewing 

habits 

C)  when the study showed a politician can be a 

charismatic leader advocating home security 

measures 

D)  whereas a politician usually faced an uphill battle to 

win the approval of voters in an impending election 

E)  even if you could imagine an unscrupulous 

politician having a quiet word in the ear of an 

intelligence officer 



48.  With satellite digital radio, good reception is 

guaranteed, —. 

A) before your receiver has been installed by the 

mechanic 

B) if you pay too much money for the digital radio 

C) after you sign up for a monthly payment 

D) as long as you point your receiver at the satellite 

E) unless you purchase a good satellite digital radio 

 

 

 

49. —, scientists are entirely dependent on their 

instruments to hear the toothed whales' clicks. 

A)  Since humans can hear only sounds between 20 

and 20,000 hertz 

B)  As the vessel has made both acoustic and visual 

observations of whales 

C)  While other whales use sound to hunt, orient 

themselves, and communicate 

D)  Given that sound travels easily through air and 

water 

E)  Because the blue whale’s vocalizations are very 

easy to recognize 

 

 

 

50.  Warsaw is rich in museums and historic sights —, 

A)  where the streets are less crowded than most 

European cities 

B)  because the inhabitants of the city are proud of 

their history 

C)  although most of them were damaged during World 

War ll 

D)  when it finally became the capital city of Poland in 

1596 

E)  because Warsaw is visited by thousands of tourists 

every year 
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51. Whether you are interested in the ancient, 

medieval, or modern world, ----. 

A) the Cities of the Dead are cemeteries in Cairo that 

have become home to thousands of the city’s 

poorest 

B) you can visit the Old City of Jerusalem, which is 

home to countless Jewish, Christian, and Muslim 

sacred sites, such as the Wailing Wall 

C) you can see the ancient cities of Harappa and 

Mohenjo-Daro in Pakistan dating back to 3000 BC 

that are still under excavation 

D) you can find art and architecture from each time 

period anywhere people resided in the Middle East 

E) the Egyptian Museum in Cairo is a treasure chest 

of mummies, statues, and thousands of other items 

of historic value 

 

 

52. ---, while larger sailing cruisers are used for long-

distance racing. 

A) Smaller sail boats are used for weekend and 

holiday cruising 

B) Many different types of smaller sailing dinghies 

have gone on the market 

C) Fibreglass has helped extend the use of smaller 

boats to more people 

D) The yacht Maiden was used to compete in a long 

race with the first female crew 

E) The kayak is the most popular type of canoe in 

Europe 

 

 

53. Because social relations are so crucial for human 

life, --- 

A)  young adults often devote long hours to work, 

leaving little time for other activities 

B) relationships that cut across both racial and ethnic 

lines are nothing new 

C)  it is not surprising that loneliness and personal 

rejection are major sources of distress 

D)  loneliness can take many forms and cannot be 

detected simply by looking at someone 

E) it is possible to experience one type of loneliness 

but not the others 



54. ----, but it is easy to see proof of major market 

failures there as well. 

A) It is possible for trade policy to ignore national 

welfare altogether 

B) Domestic market failure calls for domestic policy 

changes based on cost-benefit analysis 

C) Most deviations from free trade result in market 

failure 

D) We need to realize that economic theory does not 

provide a dogmatic defence of free trade 

E) The evidence that markets perform poorly is a little 

less obvious in advanced countries 

 

 

 

55. Although young children are certainly sensitive to 

other people’s facial expressions, ----. 

A) they find it difficult to learn that something is bad for 

them 

B)  their brains are not capable of fully understanding 

the emotions that cause them 

C)  it is still not a good idea to send them to school at a 

very early age 

D) they generally want things that they cannot have 

E) It is hard for them to deal with being separated 

from their caregivers 

 

 

 

56. The language game is similar to other games  

in that it is structured by rules ----. 

A) upon which certain notions have not yet been 

defined clearly by linguists 

B) which provide a picture of a world without laws  

C) so that individuals are initiated into their own 

society and culture by their parents 

D) which speakers learn simply by belonging to a 

particular speech community 

E) and these are completely irrelevant to the actual 

users of the language 

57. There are hundreds of mental or cognitive ability 

tests available worldwide, ----. 

A) while aptitude tests are typically used to predict 

future performance 

B) therefore new applicants are assumed to be more 

successful in such tests 

C) so people need to study very hard if they want to 

get a good score 

D) though people have to be careful and make sure 

they know their mental ability 

E) yet the number of people who value their results 

remains very low 

  

58. A glacier is an enormous ice mass ----. 

A) since a mountain valley carved out by a river is 

usually steep 

B) as long as the surrounding rock is scoured by the 

ice and sediment 

C) that results from more snow falling and 

accumulating in winter than melts in the summer 

D) while the sun rays are not as strong during these 

times 

E) which shows that our mild climate is only an 

interval between ice ages 

 

59. People lose one of the most obvious ways in which 

they can identify their place in society ----. 

A) when they leave the workforce permanently 

B) so they need to gain a lot of work experience 

C) because they generally love to socialize 

D) as their retirement is a reward for years of hard 

work 

E) despite their failure to change their habits 

 

60. You will feel right at home with Florida’s 

outrageous broadcasts ----. 

A) whereas analogue sound has higher fidelity than 

digital sound 

B) if you are accustomed to the sensationalism of 

cheap daily newspapers 

C) although they give you direct access to many TV 

channels 

D) whether you have to choose from a wide variety of 

radio channels 

E) as though your favourite song was on air all day 

long 
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61.  Even if we have a lot of work, ----. 

A)  we have some difficulties in making our future 

plans clear 

B) we do not usually complain about being busy  

C)  there are various conditions that affect our 

behaviour 

D)  we never tend to pay attention to relationships 

E)  some details can remind us of our early 

experiences 

 

 

 

62.  ----, while the early pioneers of intelligence testing 

were mostly interested in theoretical questions 

about the nature of intelligence. 

A)  IQ tests initially ignored the development of 

intelligence 

B)  Determining what intelligence is and how it 

changes has not been easy 

C)  Theoretical issues in intelligence testing tradition 

have overshadowed practical ones 

D)  Any approach to intelligence must have confronted 

the question of its structure 

E)  The pragmatic origins and uses of IQ tests have 

recently been emphasized 

 

 

 

 

63.  When employees lack skill and interest, ----. 

A)  performing a job well means people should also 

help manage it 

B) expecting them to lead a project successfully is 

unrealistic 

C)  the goal would be to increase communication in a 

unit 

D)  unnecessary interference and distractions will 

cease  

E)  too much appraisal will make it tough for people to 

concentrate 

64.  If they are striving to do their work ethically, ----. 

A)  history teachers will need to discuss the moral 

implications of events with their students 

B)  no one can effectively teach children how people 

should behave in a conflict 

C)  citizens’ worldviews are often related to the realities 

of their daily lives 

D)  there will be aspects of human rights that underpin 

society  

E)  how processes are described in a society is very 

important 

 

 

 

65. Although plays were being written as early as 300 

BC, ----. 

A)  the Greek audience’s view of the stage was framed 

by the landscape and sky 

B)  Roman theatres included large amphitheatres for 

the audience which could be built into hills 

C)  the action of the play took place on a raised stage 

or pulpitum 

D)  the first permanent theatres where they could be 

staged properly were not built until much later 

E)  the function and proportion of theatrical elements 

changed significantly 

 

 

 

66. A 10% increase in the cost of hospital services 

would cause poorer households to cut back their 

hospital care by 4.7%, ----. 

A)  in spite of the fact that many developing nations 

subsidize medical care by about 5% 

B)  thus the difference between poor and wealthy 

households is even larger 

C)  whereas the wealthy would have to do the same by 

only 2.9% 

D)  because the higher price of medical care would not 

affect the wealthy at all 

E)  but the same pattern occurs in the demand for 

medical services in poorer households 



67. Some firms provide special services for frequent 

buyers such as encouraging repeat business with 

discounts ----. 

A)  because their previous experience may not be 

relevant 

B)  so that making purchases from them becomes a 

part of the customer’s routine 

C)  although this practice is similar to the process of 

problem solving 

D)  when consumers face a really new concept 

E)  as it does not confirm how long this offer will be 

valid 

 

 

68. Enthusiasts in some countries had been building 

small rockets and thinking about space travel for 

many years, ----. 

A)  which went on to launch the first astronauts on the 

Redstone rocket in 1961 

B)  therefore most of this work involved building large 

rockets for actual space travel 

C)  whereas a Russian teacher worked out many of the 

principles of rocket science 50 years ago 

D)  but it was a team of scientists and engineers in 

Germany that finally made the dream a reality 

E)  even though they had been fascinated by the idea 

of space travel since their childhood 

 

 

 

69.  ----, London has decided to transform its poorest 

neighbourhood into a display of what the Olympic 

Games can mean beyond medals. 

A)  Since the athletes are competing to win gold, silver 

and bronze medals 

B)  Because many people question the value of 

hosting the Olympic Games 

C)  Whenever the idea of hosting the Olympic Games 

emerges 

D)  Though the political support would be dependent 

on being chosen to host the Olympic Games 

E)  If hosting international events is considered to be a 

valuable experience 

70. In general, copyright law takes the view that 

computer programs are not patentable ----. 

A)  when an antivirus program is recommended for 

safe computer use 

B)  if checking e-mails on a daily basis has become a 

habit 

C)  now that lengthy court battles benefit neither party  

D)  even though some programs have simply 

undergone a digital transformation  

E)  unless they are genuine innovations with industrial 

applications 
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71.  ----, while in sailing ships the wind has been an 

essential source of power for even longer. 

A)  Windmills have been used for at least 3,000 years, 

mainly for grinding grain or pumping water  

B)  In Germany, scientists have constructed a new 

wind turbine that generates a great amount of 

electricity  

C)  Wind power has come to fall into disuse with the 

advent of cheap fossil-fuelled engines  

D)  There is now a reappraisal of wind energy because 

of the dramatic increases in crude oil prices  

E)  Lately, there has been widespread interest in using 

wind energy for remote dwellings 

 

 



72.  In addition to the normal problems of working out 

a satisfactory marital relationship, ----. 

A)  the expansion of a family could happen in a variety 

of ways, including having a child and the moving in 

of a relative  

B)  people now seem to prefer getting married at a 

later age when compared to the past  

C)  most relationships are exchanges of valued 

resources and involve an analysis of costs and 

benefits  

D)  couples from different cultures may have to cope 

with social discrimination and isolation  

E)  more needs to be done for parents who are unable 

to meet the educational needs of their children 

 

 

73.  As the population of Asia’s wild tigers has 

declined over the years, ----.  

A) the improved health of Thailand’s forests suggests 

that the tiger population could continue to grow  

B)  it is known that global alarm for the species first 

sounded in 1969 following a peak in the tiger skin 

trade  

C)  they are also regarded as powerful swimmers and 

can supplement their diets with marine life  

D)  these legendary animals have become a thing of 

the fable as much as reality 

E)  they are not picky about their food and environment 

like pandas 

 

 

74. Though a stronger global recovery would ease 

some of the pain in recruitment, ----.  

A)  some governments will introduce extensive 

programs focusing on young people  

B)  labour experts believe the problem of youth 

unemployment demands special attention  

C)  the gap between the skilled and unskilled 

workforce has been filled with in-service training  

D)  those who graduate from universities have now 

more difficulty in finding a job than in the past  

E)  the employment of young people is said to 

overcome recession in developed nations 

75 ----, because it is driven uniquely by its financial 

returns.  

A)  Conventional tourism management lacks adequate 

market assessment  

B)  Tourism is, after all, a social activity that many 

people enjoy  

C)  A tourism development plan is important for a city 

to manage visitors  

D)  The implementation stage in tourism development 

includes plan objectives and public concerns  

E)  Tourism planning usually fails to take 

environmental and social impacts into account 

 

 

76. ----, why don’t we all have serious trouble with our 

body image?  

A)  Provided that a deficit plays the leading role in the 

development of anorexia  

B)  If various biological and environmental factors 

come together to create a problem in the body  

C)  Given that each of us is extensively exposed to 

images of presumably perfect bodies  

D)  When our body image and functioning go hand in 

hand in a healthy manner  

E)  Now that a sportswoman can become overly 

concerned with her deformed body shape 

 

 

 

77. You can still make it your own and increase your 

chances of achieving it ----.  

A)  even if your goal has stemmed from an external 

motivation  

B)  in case forming a new habit requires choosing 

between the pleasant and familiar  

C)  once you have found the reason for giving up an 

unsatisfying job 

D)  unless you look for an activity that will help you 

tackle challenges more enthusiastically  

E)  after you stop trying to make an important change 

in your lifestyle 

 

  



78. ----, they are often exposed to indoor pollution.  

A)  Because people can be affected to a great extent 

by a city’s infrastructure  

B)  Though the majority of factories use fuel especially 

for the production process  

C)  If facilities for health care are a concern in all 

countries across the world  

D)  When cars are used more frequently than public 

transportation  

E)  Since poor households are more dependent on 

solid fuel for heating and cooking 

 

 

79. Statements made in the media can plant 

distortions in the minds of millions, ----.  

A)  while the news often has an implicit bias that may 

portray opinions in misleading ways  

B)  although people attribute some misconceptions to 

a predetermined campaign of certain authorities  

C)  instead they are most likely the result of common 

types of reasoning errors  

D)  but learning to recognize commonly used fallacies 

will help you separate fact from fiction  

E)  and TV shows should be supplied with both 

educational and entertaining characteristics 

 

 

80. Colours, sounds and smells are always present in 

the material world but are meaningless to us ----.  

A)  although separate analyses of art and mind lead to 

a misunderstanding of each  

B)  yet the things we cannot perceive with our five 

senses are called ‘abstract notions’  

C)  so we have specific knowledge of the brain as 

reflected by neurological principles  

D)  whether we are just beginning to understand these 

natural processes  

E)  unless they first activate our senses and are then 

represented as cognitive events 
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81. In order to make the first vessels to cross stretches 

of water, ----. 

A) ancient civilizations depended heavily on these for 

their survival and expansion 

B) the Greeks brought the art of rowing to a level of 

perfection that has never been surpassed 

C) early attempts were often unique to the societies 

that originated them 

D) people had already developed them for such 

purposes as fishing and transporting goods 

E) early humans employed materials ranging from 

animal skins to small pieces of timber 

 

 

82. While several other minerals are needed for muscle 

function, ----. 

A) knowledge of your body and its functions can be a 

great ally in health matters 

B) most of the calories in the food we eat are used by 

our muscles 

C) the contours of the body alter as the muscles 

strengthen 

D) exercise is a vital ingredient for keeping the human 

body in good health 

E) continuous intake of calcium helps to maintain a 

healthy skeleton 

 

 

83. Despite the political upheavals in the Arab  

world, ----. 

A) the Middle East is gaining ground to become one of 

the world’s popular tourist destinations 

B) business boom, in places like Dubai and Abu 

Dhabi, has had little impact on the economies 

C) the airlines are rapidly expanding their routes in 

Europe and Asia 

D) emphasis on new policies is required to overcome 

recession in these countries 

E) stability, strong economic growth and value for 

money are the key factors of economic mobility 



84. Whereas there are undoubted social benefits to 

increasing home ownership, ----. 

A) the mortgage companies that finance home buyers 

can go bankrupt 

B) there are some economic problems associated with 

it 

C) more and more people prefer to buy homes than 

rent 

D) the existing laws make it financially more attractive 

to purchase 

E) incentives to rent houses still remain at historically 

low levels 

 

 

 

85. No matter how good the food we eat is, if it is not 

well digested, absorbed into the blood and 

assimilated into the cells, ----. 

A) we can, in time, develop symptoms and nutritional 

deficiency 

B) food must be well chewed and mixed with saliva 

C) an alkaline environment is needed for the next 

stage of digestion 

D) it reaches the stomach where it is mixed with 

pepsin 

E) the breakdown of the protein in food begins here 

 

 

 

86. ----, Indian culture was primarily oral, with a high 

value placed on recounting tales and dreams. 

A) No matter how extraordinarily diverse Indian 

customs and culture have been 

B) As native American Indians evolved into complex 

hierarchical societies that practiced human 

sacrifice 

C) Even though the first Indians began constructing 

earthen burial sites and fortifications around 600 

BC 

D) If all European emigrants had left their homelands 

to escape political oppression 

E) Although some North American tribes developed a 

type of hieroglyphics to preserve certain texts 

 

 

 

87. ----, you can work on extinguishing any undesirable 

behaviors. 

A) Unless you proceed to the interviewer’s office for 

your interview 

B) Although previous work experience is sought by 

almost all employers nowadays 

C) Once you are able to see yourself interacting with 

others 

D) Whereas there is much to be learned about human 

nature in general 

E) Just as any communicative event requires at least 

one person to be around 

 

 

88. It might not be practical to use a different password 

for every single website that you log into ----. 

A) so online shopping involves more than just a seller 

and a buyer 

B) although it is more suggestible for someone to rely 

on a computer engineer 

C) since nicknames on the Internet are not enough to 

protect you from harm 

D) while the term ‘surfing’ has become more 

widespread as more people use computers 

E) but it is definitely worth having more than one for 

security reasons 

 

 

89. The nests birds leave behind provide clues about 

their lives and environment ----. 

A) as the architectural complexity of these nests 

hardly untangles their genealogy 

B) just as archaeological sites supply glimpses of 

human history 

C) but nest-collecting was a popular boyhood hobby in 

the 19
th
 century 

D) despite the fact that they remain a largely untapped 

scientific resource 

E) before they lay eggs in order to sustain the 

continuation of their species 

 



90. ----, not only cell operators but also law 

enforcement have come under fire for exploiting 

personal data without the user’s knowledge. 

A) After the companies have agreed widely on privacy 

policies 

B) Although law enforcement units permit users to 

reach all sites 

C) Since market demand is driving some of the 

biggest collectors of data into piracy 

D) As smart phones’ tracking abilities have become 

more sophisticated 

E) Now that banking transactions via mobile devices 

are almost completely secure 
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91. Because the relationship between government and 

business is complex, where so much changes so 

rapidly, ----.  

A)  highly specialized publications serve such 

industries as petroleum, aerospace and electronics  

B)  newsletters were produced for smooth exchanges 

of information between the two  

C)  some modest-looking newsletters may carry a 

subscription price tag of hundreds of dollars  

D)  further need arises for swift, expert and specialized 

media to explain the latest developments  

E) the subscriber pays for the information, not 

necessarily the literary style or production values 

 

92. Thanks to vaccinations, antibiotics, sanitation and 

better parental care, ----. 

A)  age is the biggest risk factor for common deadly 

illnesses  

B)  an infant born today is not luckier than their 

grandparents   

C)  today, we are much more likely to die in old age 

than in our youth   

D)  it would not be reasonable to have high 

expectations to live longer and healthier  

E)  a high childhood death rate is still a fact in most of 

the African states  

93. ----, but the remains they recovered early on held 

little information about the birds they came from.  

A)  The very first penguin fossil to be identified was a 

single bone found in New Zealand  

B)  Scientists have known about fossil penguins for 

more than 150 years  

C)  The fossil record of penguins began to improve in 

the late 1970s  

D)  Geographic distribution of penguins reflects a 

single point of origin near South America  

E)  Penguins are weird birds in that they cannot fly and 

are instead proficient swimmers 

 

 

94. Even if we were to stabilize greenhouse gas 

emissions today, ----. 

A)  both temperatures and sea levels would continue 

to rise for many hundred years  

B)  we cannot immediately stop various global cultural 

phenomena that are in action  

C)  this problem can be attributed to the variations in 

the output of the Sun  

D)  some environmental problems are the results of 

centuries of pollution  

E)  the rising temperature trend that we are witnessing 

today might destabilize automobile emissions 

 

 

95. In trying to understand the development of 

language, ----. 

A)  the grammar of a language represents the linguistic 

knowledge or capacity of its speakers  

B)  human language utilizes a fairly small number of 

sounds  

C)  language is a part of our essential human nature 

and was never invented  

D)  our curiosity about ourselves has also led to 

numerous theories about language origin  

E)  scholars, for ages, have been debating the role 

played by the vocal tract and the ear 

 

 

 

  



96. ----, few realize how changes to their sleep pattern 

can have a significant effect as well.  

A)  Because doctors prescribe medicine to regulate 

sleeping patterns of the elderly  

B)  While most people appreciate how their health is 

tied to their diet and exercise  

C)  When a bad night's sleep ruins the whole day of a 

person  

D)  Once sleepless people seek a solution by taking 

drugs to overcome insomnia  

E)  Though many insomniacs have been seriously 

advised to cut out drinks containing caffeine 

 

 

97. Some sorts of music strike us with their perfection, 

----. 

A)  thus there is no reason to think that things stand 

differently with artwork  

B)  while reggae is a music style which is completely 

responsibility-free for the society  

C)  though we may have difficulty identifying what 

emotion they express  

D)  as everyone cannot get the same pleasure from a 

certain kind of music  

E)  but artists can organize their work in such a way 

that only a group of people enjoy it  

 

 

98. How responsibilities are planned and handled is 

changing in many companies ----. 

A)  due to the latest technological tools that are 

available  

B) as opposed to buyers who demand technological 

innovation 

C)  whereas telemarketing is rapidly growing its sales 

force  

D)  when some salespeople are expected to be 

marketing managers  

E)  although starting a new job may offer great 

opportunities  

99. ----, they develop non-verbal communication with 

others.  

A)  If some people have serious problems due to 

psychological disorders  

B)  As deaf people are actually slightly more prone to 

auditory hallucinations  

C)  Unless people can successfully internalize their 

thoughts 

D)  Before children acquire language as infants and 

produce their first words  

E)  As long as extremely shy personalities lack 

interaction even with their family members  

 

 

100. ----, diets that include a variety of healthy food are 

more likely to produce long-term results.  

A)  Due to the fact that a vegetarian diet is a good 

choice for some people but not for others  

B)  Whether they are part of a formal weight-loss 

program or a personal attempt  

C)  Now that there has been a recent decline in fat 

consumption in Turkey over the short term  

D)  Although restricting or eliminating a food category 

is nutritionally unwise  

E)  Unless we develop reasonable and healthy eating 

patterns 

  



KPDS CÜMLE TAMAMLAMA CEVAP ANAHTARI 

1) D 2) E 3) C 4) B 5) E 6) A 7) E 8) B 9) C 10) D 

11) B 12) D 13) C 14) E 15) A 16) B 17) C 18) A 19) D 20) E 

21) E 22) D 23) A 24) C 25) B 26) E 27) C 28) B 29) D 30) A 

31) D 32) A 33) B 34) D 35) C 36) A 37) C 38) A 39) D 40) C 

41) C 42) E 43) A 44) C 45) A 46) D  47) B 48) D 49) A 50) C 

51) D 52) A 53) C 54) E 55) B 56) D  57) E 58) C 59) A 60) B 

61) B 62) E 63) B 64) A 65) D 66) C 67) B 68) D 69) B 70) E 

71) A 72) D 73) D 74) B 75) E 76) C 77) A 78) E 79) D 80) E 

81) E 82) E 83) A 84) B 85) A 86) E 87) C 88) E 89) B 90) D 

91) D 92) C 93) B 94) A 95) E 96) B 97) C 98) A 99) D 100) B 

 

 




